
 

51 Solving Systems of Linear Equations in two
Variables

A system of linear equations
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Trying to find an X value that makes the

equation true
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7 x y 2

Trying to find x values and g valueis that
make both equations true

3 possible solutions

Unique solution i.e exactly I x valued 7y value
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Infinitely many solutions

No solution
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Not true
So no solution
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If we get 6 6 then we have infinitely many
solutions

Tometuing
like
anytheentence

If we get something like 3 0 any false sentence
there are no solutions


